FTHEE &M (FFEX) HRFEREIR

EFRFE EFRFR

GE) RHEEINTETITH L,
-BIERBFORB.HE. BRETRERTSHE,
EBEREELELIOTIET AL,
FERBIEAR—IREZDTESTHIE,

2021 FEELIEA SRS A BEHAAYOEEI- N TEKEDERIRSL,
1R 9:20 ~ 10:40 6FF 18:00 ~ 19:20
2R 11:00 ~ 12:20
3R 13:00 ~ 14:20
AR 14:40 ~ 16:00
5B (16:20 ~ 17:40
A EBR 2 BH FHFERE
e B & HE4 A BR B By 2 e
1 BERE R Bl— 1H29H(A) 2 B 0302
2 | HEEXXALER oK It 1A29H(RA) 2 R 5212
A B 3 BH FHFERE
e B & HE4 A BR B By S e
2 FAEEE4 BRH ZZB 1H29H(A) 3 R 0309
A B 4 BH BFERE
e B & HE4 A BR B By S e
2 TOEIC 2 Xk BE 1H29H(H) 4 B 9307
2 TITHEBRARSE B 1A29H(A) 4 B 0303
3 #E FH FEsh 1H29H(RA) 4 R 0302
X BEB 1 BBE BERE
pe B4 HE % A BR A By 2 55
1 FHZ ik m— 1A238(K) 1 B 5107
1 EEhEEAMS I FE 1H28BCK) 1 B 0305  IhaoAlRgL FERERANRDE
X BEH 2 [BE BHERE
e B & HE4 A BR B By S e
1 Ffz T H—v 1A23H(K) 2 B 5405
1| FRE Bin —18 1A238) 2 B 9211
1 | FHE ik 1A23H(KX) 2 R 9301
X BEEB 4 [BE BE#E
pe B & HE % A BR B By 2 55
1 faE L% =t 1THA23H(X) 4 B 12402
1 EEBELER T. h—> 1TA23B(K) 4 B 9301
K BEBR 3 [RE HF#EHE
e B & HE4 A BR B By 2 e
1 3B (Reading &Writing) 2 MR B&F 1H824H(K) 3 BB 0305
K EB 1 BB FERE
pi B4 HE % A BR A By 2 55
| EEPEEAMA I FE 1A288C0) 1 B 0305 FLronAlsgy SEREBARLRDE
3 HARADERE £R Rz 1H26H(K) 1 R 0305

P1 1/2 R—=2




X EB 3 PRE REHE

P ElH#A HE4 5% B B = &5
2  EiRBAEEME2 & BAZE 1A25H(K) 3 BB 5102

AN EH 4 PEH BERB
P ElH#A S g=E2 5% B B H=E &5
9 | #:E (Reading & Writing) 4 mx BE 1A25H(K) 4 B 9306

1 EXLIEfE BH & 1HA25B(K) 4 B 5501

2 | BERXIBRERSR L0 [T 1HA25H(K) 4 BB 0301

KB 5 BBH FHE#EE
i ElB 4 HEH 5% B B H=E I=ES
2 HEHKROERES X mlil B 1H256H(K) 5 BB 0304

£ IEB 1 [RE BI#E®H
i ElB 4 HEH 5% B B H=E I=ES
1 £y AHE f 1826H(%£) 1 BB 5212

1 HBERE IR Rl— 1A26H(E) 1 B 0303

1 BREBEHEZEER A BEF 1H26H(£) 1 B 5402

2 ANEHF 2H & 1H26H(£) 1 B 9402

3 ERIEAEEE2 (EEEE) Bt =B 1H26H(%£) 1 BB 5116

£ EH 2 BEH BIEXEB
P ElH#A S g=E2 5% B B H=E &5
1 HEEAMA2 ¥ EE 1H26H(%£) 2 BB 0304

£ EH 4 BEH BEXEB
P ElH#A S g=E2 5% B B = &5
2 #HEEER ha EF 1H26H(%£) 4 BB 5402

£ IEQ 5 BB BA#E®H
i ElB 4 HEH 5% B B H=E I=ES
1 BHERE ER M- 1A26B (&) 5 BB 0302

P1

2/2 R—=




